[ Efficiency vs vertpos |

= 0.0%
$.009
)
9.008
(&)
$.007
_U
.006
0.005
0.004
0.003
0.002
0.001]

Efficiend

~ 0.0
9.009
%))
9.008
&
9.007
‘©
$.006
()
0.005
0.004
0.003
0.002
0.001]
1.0

Ratio

.................................................

.................................................

.................................................

.................................................

1.0

0.95!

11 L
i AR s K == LEE ECEEEEEE LR

1

10 0
TP vertr (cr%)

2

0004
lelelele
<4

11 _ornigmal
|_TT_newbranch
TT original_pLess
TT _newbranch_plLess

....................

...................

...................

[y

g

[ Efficiency vs. sim PV z |

~ 0.0

0

10 20
TP vert z (cm)

>
£0.009
B.008
9.007
>
B.006
R
$#.005
(]
0.004
0.003
0.002

0.001

Ratio

1.0

0.9

|

T
o

10

15
Sim. PV z (cm)

30

20




	Contents
	Page 1


